

A-3. Vypočítejte.

a)

$$-2 - (+4) - (-3) = \underline{\hspace{2cm}}$$

$$6 - (5 - 8) - 2 = \underline{\hspace{2cm}}$$

$$-13 - (12 - 15) = \underline{\hspace{2cm}}$$

$$4 - (-8) + (-6) = \underline{\hspace{2cm}}$$

$$-2 - (-3) - (+9) = \underline{\hspace{2cm}}$$

b)

$$3 + (-2) - (+4) = \underline{\hspace{2cm}}$$

$$(-7) - (-8) - (+9) = \underline{\hspace{2cm}}$$

$$-(6 - 12) - (-5) = \underline{\hspace{2cm}}$$

$$(-3) + (-9) - 4 = \underline{\hspace{2cm}}$$

$$-(-7) + (-9) + 3 = \underline{\hspace{2cm}}$$